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Q1. NON-CALCULATOR

FULL MODEL ANSWERS

The scatter graph shows the maximum temperature and the number of hours of sunshine in fourteen British

towns on one day.
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(a) One of the points is an outlier. Write down the coordinates of this point.
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(b) For all the other points write down the type of correlation.
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On the same day, in another British town, the maximum temperature was 16.4°C.

(c) Estimate the number of hours of sunshine in this town on this day.
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A weatherman says "Temperatures are higher on days when there is more sunshine."

(d) Does the scatter graph support what the weatherman says? Give a reason for your answer.
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Q2. CALCULATOR ALLOWED
Sean has information about the height, in cm, and the weight, in kg, of each of ten rugby players.

F 3
105
% He is asked to draw a scatter graph
% ] and a line of best fit for this
| | information. Here is his answer.
100 % *
eight (kg) x
95 Sean has plotted the points
 amc | i accurately.
a0 |- , ! ! . .
% Write down two things that are
L, NS R R ' wrong with his answer.
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information about the marks a
group of students got in a
Science test and in a Maths
test.
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a Q3. CALCULATOR ALLOWED

ﬁ 1 The scatter graph shows
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Jamie got a mark of 34 in the
Science test.

Using the scatter graph, find an
estimate for Jamie's mark in the
Maths test.
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(Total for question = 2 marks)
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Q4. CALCULATOR ALLOWED

Jean records the maximum daily temperature each day for 10 days.
She also records the number of children going to a paddling pool for each of these days.

She draws this scatter graph for her information.
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Jean's information for one of these days is an outlier on the scatter graph.

(a) Give a possible reason for this.
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(b) What type of correlation does the scatter graph show? -
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On the 11th day, the maximum daily temperature was 19°C.

(c) Write down an estimate for the number of children going to the paddling pool on the 11th day.
Draw o line of besk fir N
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It would not bé sensible to use the scatter graph to predict the number of children going to the paddling
pool on a day when the maximum daily temperature was 13°C.

(d) Give a reason why.

(Total for question = 4 marks)
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Q5. CALCULATOR ALLOWED
Katie measured the length and the width of each of 10 pine cones from the same tree.

She used her results to draw this scatter graph.
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(a) Describe one improvement Katie can make to her scatter graph. @& buncheds J«P)

The point representing the results for one of the pine cones is an outlier.

(b) Explain how the results for this pine cone differ from the results Sr[\ other pine
cones.&egc_r\be_, "\“L\L \ﬂr\E)fHA an ekt i
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Q6. CALCULATOR ALLOWED
The scatter diagram shows information about 10 students.

A For each student, it shows the
100 - number of hours spent revising and
L the mark the student achieved in a
90 ! Spanish test.
g0 I
One of the points is an outlier.
70 ! ! (a) Write down the coordinates of
& cE SEiEzuRasant 35 ; ! | the outlier. (DcJ 'j)
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g ® it L)
40 - _: (1)
r T i For all the gtpg_points
9 T » (b) (i) draw the line of best fit,
20 |- : (i) describe the correlation.
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(2)
A different student revised fom.
(c) Estimate the mark this student got
US< Y DU~ line o 'C 6 3
best Gt (1)

The Spanish test was marked out of 100

Lucia says "l can see from the graph that had | revised for M | would have got full marks."

(d) Comment on what Lucia says. \S ‘(8 ]’10%"5 IN xl:]'\& clcd‘o\ a Qﬂje?

to extrorp slate.  t+o (B hows. (1)

(Total for question is 5 marks)

MathsUpGrade-co-uk




Visit MathsUp6rade-co-uk for Questions, Clues & Solutions

Q7. CALCULATOR ALLOWED
The scatter graph shows information about 10 adult snakes of the same type.
It shows the length and weight of each snake.
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An adult snake of this type has a weight of 740 g.

(a) Use the scatter graph to estimate the length of this snake. 78
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ASing  on  pencil and  ruler 2
Steven wants to estimate the weight of an adult snake of length 110 cm.

He says he will draw a line of best fit and read off the weight at 110 cm.

(b) Explain what is wrong with his method.
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(Total for question = 3 marks)
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Q8. CALCULATOR ALLOWED
The scatter diagram shows information about 12 girls. It shows the age of each girl and the best time she

takes to run 100 metres.
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(a) Write down the type of correlation.
PDSH’" ve r\ga o\—l-\\ Ve or none. INCoAOAT VUL

(b) Kristina is 11 years old. Her best time to run 100 metres is 12 seconds. The point representing this

information would be an outlier on the scatter diagram. Explain why.
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Debbie is 15 years old. Debbie says "The scatter diagram shows | should take less than 12 seconds to run
100 metres."

(c) Comment on what Debbie says.
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Q9. CALCULATOR ALLOWED
In a survey, the outside temperature and the number of units of electricity used for heating were recorded
for ten homes. The scatter diagram shows this information.
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Molly says, "On average the number of units of electricity used for heating decreases by 4 units for each °C
increase in outside temperature. 'b Caw -~ “ne_ of bt s Bt

a) Is Molly right? Show how you get your answer. : test
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(b) You should not use a line of best fit to predict the number of units of electricity used for heating when
the outside temperature is 30°C. (sl o Fe cko\’l“o\ {-Q,\ﬁ&
Give one reason why.
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% would be naccarate. (1)
(Total for question = 4 marks)
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Q10. CALCULATOR ALLOWED

1 Oliver records the distance
from London to each of eight
5000 cities in the USA.
He also records the time
5500 ! taken to fly from London to
i e each of these cities.
i 5Ty The sca’Fter graph shows this
) s | information.
Distance
(miles)
4500 !
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Time taken (minutes)
Chicago is a city in the USA. Chicago is 4000 miles from London.
(a) (i) By drawing a line of best fit, find an estimate for the time taken to fly from London to Chicago.

.............. l"qB minutes
(2)

(i) Why is your answer to part (i) only an estimate?
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(b) (i) Calculate the gradient of your line of best fit G—v‘ad.fyﬁ' = .
C an& N
- 60600- 4500
700 — §4&5

- (2)
(i) Give an interpretation of the gradient of your line of best fit J Distance
= Tirme
USTINENCTAY: I <5 S A B, N ——
(1)

(Total for question = 6 marks)
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